

Quotation

Rayomarine 88Y-988 – Spares <4 weeks

Date

27 September 2021

Quotation Number

128493

Expiration Date

31 July 2021

Quotation Total

558 798 NG

PR NAUTICA

From

PR Nautica Ltd.

Eastern Hangar, Lawrence Road Plymouth, Devon PL9 9SJ

GĎ

Rayomarine Inc.

I Building, Country Space 1, 10th, Sen. Gil J. Puyat Ave, Makati, 1200 Metro Manila, Philippines

Task	Rate	Qty	% ?	Amount
0300-6396 Control Assy	£815.13	3		£2,445.39
Availability: 2-3 Weeks				
6 x PCB board	£278.68	6		£1,672.08
Availability: 2-3 Days				,
2 x Qhr display control	£196.51	2		£393.02
Availability: 2-3 Days				
2 x Logic control	£500.20	2		£1,000.40
Availability: 2-3 Weeks		_		_,,,,,,,,,,
·				
MV CHARGEMASTER PLUS 24/60-3	£914.24	1		£914.24
Availability: 1-2 Weeks				

PV6s Availability: In Stock	£28.53	1	£28.53
PV12s Availability: In Stock	£48.91	1	£48.91
PV24s Availability: In Stock	£87.07	2	£174.14
24V EIC display Availability: In Stock	£128.38	2	£256.76
24V Relay port Availability: In Stock	£75.13	1	£75.13
24V Relay starboard Availability: In Stock	£75.13	1	£75.13
24V EIC module control Availability: In Stock	£142.64	1	£142.64
Keypad control – Opacmare Availability: In Stock	£236.92	2	£473.84
Toilet Switch and Control Box Availability: In Stock	£347.49	6	£2,084.94
CONTROLLER, WMC-1, WATERMAKER, ICONTROL, 240V, Sea Xchange	£1,022.08	2	£2,044.16
Availability: 3-4 Weeks			

Proximity sensor for the Gang-way Availability: In Stock	£89.33	4	£357.32
Proximity sensor for the Swim Platform *Availability: In Stock**	£117.37	6	£704.22
TV lifter control module Availability: 1 Week	£203.78	1	£203.78
SMX53 Availability: 1-2 Weeks	£284.33	16	£4,549.28
SMX SUPRA i-Connect Hub Availability: 1-2 Weeks	£122.67	4	£490.68
Deck Lights Availability: In Stock	£14.26	14	£199.64
E27 Golf Ball Lamp, 24V Availability: 1 Week	£4.32	1	£4.32
OM 16 Pro-S, HybridTouch 16" Multi-function Display with integrated High CHIRP Conical Sonar for CPTS Availability: 2-3 Days	£4,659.40	2	£9,318.80
AXIOM XL 16 – 15.6" Glass Bridge Multi-function Display Availability: 2-3 Days	£5,091.16	2	£10,182.32
System Remote Control Keypad (RMK-10) Portrait Only **Availability: 4 Weeks**	£309.91	1	£309.91

System Remote Control Keypad (RMK-10) Portrait Only **Availability: 4 Weeks**	£309.91	1		£309.91
Magnum 4ft Open Array Availability: 2-3 Days	£3,918.75	1	0%	£3,918.75
25m Digital Radar Cable with Raynet Connector *Availability: 2-3 Days**	£292.93	1		£292.93
70s Multifunction Colour Display Availability: 2-3 Days	£54.00	3		£162.00
p70Rs Autopilot Control Head (Power) Availability: 2-3 Days	£581.61	2		£1,163.22
Backbone Cable 20m Availability: 2-3 Days	£55.20	2		£110.40
STNG T-Piece Connector Availability: 2-3 Days	£6.79	1		£6.79
6M/20FT STNG Spur cable (GPS suitable) Availability: 2-3 Days	£50.94	1		£50.94
Pole Mount for RS150 GPS Antenna / Micro-Talk Puck *Availability: 2-3 Days**	£21.23	1		£21.23
Raystar 150 10Hz GPS/Glonass antenna (STng) Availability: 4 Weeks	£254.72	1		£254.72

iTC-5 Instrument Transducer Converter	£267.46	1	£267.46
Availability: 2-3 Days			
DST800 Analog out 200kHz	£203.78	1	£203.78
Availability: 2-3 Days			
Evolution EV1 Sensor Core	£628.31	1	£628.31
Availability: 4 Weeks			
ACU-300 Actuator Control Unit	£1,406.84	1	£1,406.84
Availability: 2-3 Days			
AIS650 Class B Transceiver	£624.07	1	£624.07
Availability: 2-3 Days			
Navionics+ on μsd	£203.78	1	£203.78
Availability: 2-3 Days			
STNG Starter Ki	£84.91	1	£84.91
Availability: 2-3 Days			

Subtotal £47,859.62

Taxes (VAT) £9,571.92

Shipping £1,366.55

Total £58,798.09

Terms

Please note our terms of business that apply, as per British Marine Federation Terms of Business Edition 15a.

Our full terms and conditions can be found at https://prnautica.com/terms-of-business/

	Pound Sterling (£)	Euro (€)	
Account Name:	PR Nautica Ltd.		

	Pound Sterling (£)	Euro (€)
Account Number:	23222691	46975188
Sort Code:	20-68-10	20-68-10
IBAN:	GB73 BUKB 2068 1023 2226 91	GB94 BUKB 2068 1046 9751 88
BIC:	BUKBGB22	BUKBGB22

Registered in England 05692821, VAT No. 878 3861 63, EORI No. GB878386163000





